Year 5 Homework - Maths - Friday 12*" November 2021

Please complete the questions below using mental addition and mental
subtraction. Use the methods we discussed in Maths this week to help you.

Mental addition

1). 1200 + 500 =

2). 4200 + 1300 =

3). 6400 + 1400 =

4), 1100 + 1800 =

5). 6870 + 2100 =

6). 13101 + 3000 =

7). 14140 + 17000 =

8). 112320 + 200400 =

9). 44935 + 8000 =

10). 10750 + 4000 + 200 =
11). 16340 + 2000 + 300 =
12). 33564 + 10000 + 500 =
13). 130138 + 17000 + 4000 =
14). 125891 + 300000 + 9000 =

->Challenge: Fill in the missing numbers

1). 40205 + = 56205
2). 355434 + = 475434
3). 24561 + = 31561

4). 444575 + = 584575



Mental subtraction
1). 2950 - 1000 =
2). 1791 - 1500 =
3). 2627 - 1100 =
4). 6401 - 2100 =
5). 7970 - 4050 =

6). 5870 - 1600 =

7). 19764 - 8400 =

8). 56270 - 20060 =
9). 145612 - 409 =

10). 60451 - 2300 =

11). 155305 - 100008 =
12). 298940 - 70003 =
13). 141511 - 23000 =
14). 331577 - 280000 =

2>Challenge: Fill in the missing numbers

1). 12700 - = 8700
2). 60070 - = 54070
3). 464381 - = 456381

4). 572454 - = 571744
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